[T p b =, L .
LR R e MR =l binder

i M8 FLIEZE, R#K: 4, AI3ZRF#&, THT, IP67
S M8-D
Bs 86 6620 1120 00404
1 SALEH EEBIE

Thickness of PCB: ~ £1,75 mm
Hexagon nuf enclosed loose

EXZ Z 8k (SMEMETUA)

e AL ST T e

RAEE

FEBH

Bs

EESEER FLKEZE

Type standard DIN EN 61076-2-114
N BRFL kB4 iEEes
EERNEREE 1257

HEA © 27.04.2024



= amini A

Boh bR ER S - IE T

=

SEE
s

BE&ER
FHIFE
TERE
IR RER
BE (gn)
BRXHS
B

%

RS

TMEBE
e L BE
ERT
4845 FPE
SRER
HRlR
EMVE#ITE

it

Sttt
A
HEARAAE
Ehmm
REACH SVHC
SCIPSH5

eCl@ss 11.1
ETIM9.0

M8 FL3E B, 1R¥k: 4, EIHERMK, THT, IP67

M8-D
86 6620 1120 00404

THT

IP67
-40°C/85°C

> 100 HERREL
5.14
85369010

DE

63V DC
1500V
4.0A

>10°Q

1
FIEEFHK
Bi#kR

Bi55E, 38

PAER/ZE

R (E50)/5R% (5Ah%)

Au (&)

CAS 7439-92-1 (Lead)
5c2c0a60-fe59-46aa-9335-6941b649fc74

27-44-01-09
EC003569

S

binder

HEA © 27.04.2024



= 35 B
Boh bR ER S - IE T

i M8 FLIEZE, R#K: 4, AI3ZRF#&, THT, IP67
S M8-D
Bs 86 6620 1120 00404

LZRIER

15t Installation proposal

With flats as antisotation device

0,5x45°
7~
Thread E A B |C |D
M8 x 0,5 81125135 [7]
: UYL < M8 x 1 81125135 (7]
K j MI0x075 [ 101125 [50 [ 9.
Tightening torque
D min B ﬁé M8 x 0,5 0,8 Nm
max ( M8 x1/M10x 0,75 1,0 Nm

S

binder

HEA © 27.04.2024



= anisiEa L .
AT LRSS SRS =l hinder

i M8 FLIEZE, R#K: 4, AI3ZRF#&, THT, IP67
S M8-D
Bs 86 6620 1120 00404

LZRIER

2nd Installation proposal
With bore hole

0,5 x 45°

Vay,

Thread E A B | C D
M8 x 0.5 81125135171

<+> el M8 x 1 81125 (35|71

M10x 0,75 |10,1] 25 [ 50 | 91

Tightening forque
A min B 4 M8 x 0,5 0,8 Nm
max ( M8 x 1/M10 x 0,75 1,0 Nm

HEA © 27.04.2024



= onistBA L .
S E LA SR IR =lbinder

[ M8 FL3KSRZRE, 1REK: 4, AIIERME, THT, IP67
SEE M8-D
S 86 6620 1120 00404

Z2ER

EERNAAXRATNATIN 12 - EFMBESIRERR - BRARENEEESES TERTHMIUIARINA -

SN IHIRE R NP6 THIP6SHYIENIEZSZ N E S TEKPER » EEIMEMART o HKIERSFB O MRIRFITIHETRIRIF o
BXIPRIFFRIE—TER - BEU "KAERE "THFAD -

AT RBEEESLEIREEAME « BLOFER "FITE" (940 cNm) -

HEA © 27.04.2024



